
  

Bua -
Al -



ma,
les


heint
lacht


geht's
und


lu -

singt



stig
und


zua,

schreit,

 
hol -


la -


ri -


di

             
}{

C

 
rei -



ti -


jo

 

d'Mu -
zua -



si
gehn


spielt
tuats


in
als


oa -
wia



ner
net


Tur

gscheit,

   
        

{ }

G

 
hol -


la


ri -


di


rei -



ti -


jo!

  
hol -


la


ri -


di -


o!

        
        

C1. 2.G C

  

Hörts
Spiel -


es

leut,


von
heint


wei -
låßts



tn
enk


schon,
hörn,


tral -


la -


la,


tral -


la -


la,

             


{

C  

}

G

 

Zi -
Heint


ther

muaß


spieln,

a


Klam -
Gau -



pfn
di


schlågn,
wern,


tral -


la -


la,


tral -


la -


la!

             
C

{ }

1.

 
tral -


la -


la


ho!

  
Gråd 


wegn


an


ha -



dri

           G2.    *) G

 
ho -



dri



hui -



a


ha


ha



ha



hui -


a

         
C G

 
ha


ha



ha



hui -


a!

 

ju


ha


ha


ho!

           G

*) Die Aushalter gelten bei der Wiederholung nicht.
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100a. Buama, heint geht's lustig zua!
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